
L3(4).6 (mod 2)

blocks defect matrix

G : 1 7 20× 9
2 1 2× 1
3 1 2× 1

4 = 3 1 2× 1

3.G : 5 7 20× 9
6 = 5∗

Block 1: ϕ1,0 ϕ1,1 ϕ1,2 ϕ2,0+ ϕ2,1+ ϕ2,2+ ϕ4,0+ ϕ4,1+ ϕ4,2+

11 = χ1,0 1 . . . . . . . .
12 = χ1,1 . 1 . . . . . . .
13 = χ1,2 . . 1 . . . . . .
14 = χ1,3 1 . . . . . . . .
15 = χ1,4 . 1 . . . . . . .
16 = χ1,5 . . 1 . . . . . .
201 = χ2,0 . 1 1 . . . 1 . .
202 = χ2,1 1 . 1 . . . . 1 .
203 = χ2,2 1 1 . . . . . . 1
204 = χ2,3 . 1 1 . . . 1 . .
205 = χ2,4 1 . 1 . . . . 1 .
206 = χ2,5 1 1 . . . . . . 1

1051 = χ3,0+ 1 1 1 1 1 1 1 1 1
1052 = χ3,1+ 1 1 1 1 1 1 1 1 1
901 = χ6,0+ 4 . . . 1 1 1 1 1
902 = χ6,1+ . 4 . 1 . 1 1 1 1
903 = χ6,2+ . . 4 1 1 . 1 1 1
1261 = χ8,0+ 2 2 2 1 1 1 2 1 1
1262 = χ8,1+ 2 2 2 1 1 1 1 2 1
1263 = χ8,2+ 2 2 2 1 1 1 1 1 2

ϕ1,0 = 11
ϕ1,1 = 12
ϕ1,2 = 13
ϕ2,0+ = 161
ϕ2,1+ = 162

ϕ2,2+ = 163
ϕ4,0+ = 181
ϕ4,1+ = 182
ϕ4,2+ = 183

Block 2: ϕ6,0

641 = χ10,0 1
644 = χ10,3 1

ϕ6,0 = 641



Block 3: ϕ6,1

642 = χ10,1 1
645 = χ10,4 1

ϕ6,1 = 642

Block 4: ϕ6,2

643 = χ10,2 1
646 = χ10,5 1

ϕ6,2 = 643

Blocks 5, 6: ϕ7,0+ ϕ7,1+ ϕ7,2+ ϕ9,0 ϕ9,1 ϕ9,2 ϕ10,0+ ϕ10,1+ ϕ10,2+

451 = χ32,0+ 1 1 1 1 1 1 . . .
452 = χ32,1+ 1 1 1 1 1 1 . . .
211 = χ35,0 1 1 . . . 1 . . .
212 = χ35,1 . 1 1 1 . . . . .
213 = χ35,2 1 . 1 . 1 . . . .
214 = χ35,3 1 1 . . . 1 . . .
215 = χ35,4 . 1 1 1 . . . . .
216 = χ35,5 1 . 1 . 1 . . . .

904 = χ36,0+ . 3 1 2 . . 1 . .
905 = χ36,1+ 1 . 3 . 2 . . 1 .
906 = χ36,2+ 3 1 . . . 2 . . 1
1264 = χ38,0+ 1 3 3 2 2 . 1 . .
1265 = χ38,1+ 3 1 3 . 2 2 . 1 .
1266 = χ38,2+ 3 3 1 2 . 2 . . 1

841 = χ40,0 . 2 1 1 1 . 1 . .
842 = χ40,1 1 . 2 . 1 1 . 1 .
843 = χ40,2 2 1 . 1 . 1 . . 1
844 = χ40,3 . 2 1 1 1 . 1 . .
845 = χ40,4 1 . 2 . 1 1 . 1 .
846 = χ40,5 2 1 . 1 . 1 . . 1

ϕ7,0+ = 61
ϕ7,1+ = 62
ϕ7,2+ = 63
ϕ9,0 = 91
ϕ9,1 = 92

ϕ9,2 = 93
ϕ10,0+ = 481
ϕ10,1+ = 482
ϕ10,2+ = 483


